
∑
の性質

性質 ⑴
n∑

k=1

(ak+bk) =
n∑

k=1

ak+
n∑

k=1

bk

n∑
k=1

(k2+k−5) =
n∑

k=1

k2+
n∑

k=1

k−
n∑

k=1

5

【分けてよい】
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∑
の性質

性質 ⑵
n∑

k=1

cak = c
n∑

k=1

ak ( cは定数 )

n∑
k=1

8k = 8
n∑

k=1

k = 8×
n∑

k=1

k 【のこと】 = 8 ·
n∑

k=1

k

【数字は前に出してよい】
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計算例 公式 ⑴
n∑

k=1

c = nc ( c は定数 ) 公式 ⑵
n∑

k=1

k = 1
2
n(n+1)

n∑
k=1

(4k+3) =
n∑

k=1

4k+
n∑

k=1

3 ⬅【分けてよい】

= 4
n∑

k=1

k+3n ⬅【数字は前に出してよい】

= 4 ·
1

2
n(n+1)+3n

= 2n(n+1) +3n

= n
(
2(n+1)+3

)
⬅【n でくくる】
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計算例

= n
(
2(n+1)+3

)
= n(2n+2+3)

= n(2n+5) 答
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計算例 n∑
k=1

c = nc
n∑

k=1

k =
1

2
n(n+1)

n∑
k=1

k2 =
1

6
n(n+1)(2n+1)

n∑
k=1

(k−2)(k−3) =
n∑

k=1

(k2−5k+6) ⬅【展開する】

【分けてよい/数字は前】➡ =
n∑

k=1

k2−5
n∑

k=1

k+
n∑

k=1

6

=
1

6
n(n+1)(2n+1)

−5 ·
1

2
n(n+1)+6n
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計算例

=
1

6
n(n+1)(2n+1)−

5

2
n(n+1)+6n

=
1

6
n
(
(n+1)(2n+1)−15(n+1)+36

)
=

1

6
n( 2n2+3n+1 −15n−15+36)

=
1

6
n(2n2−12n+22)
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計算例

=
1

6
n(2n2−12n+22)

=
1

6
n ·2(n2−6n+11)

=
1

3
n(n2−6n+11) 答
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∑
のかけ算はダメです

n∑
k=1

(k−2)(k−3)

=
n∑

k=1

(k−2)×
n∑

k=1

(k−3) はダメ！
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計算例 n∑
k=1

k =
1

2
n(n+1)

n∑
k=1

k3 =

(
1

2
n(n+1)

)2

n∑
k=1

(k3−k) =
n∑

k=1

k3−
n∑

k=1

k

=

(
1

2
n(n+1)

)2

−
1

2
n(n+1)

=
1

2
n(n+1)

(
1

2
n(n+1)−1

)
=

1

2
n(n+1) ·

1

2

(
n(n+1)−2

)
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計算例

=
1

2
n(n+1) ·

1

2

(
n(n+1)−2

)
=

1

2
n(n+1) ·

1

2

(
n2+n−2

)
=

1

4
n(n+1)(n2+n−2)

=
1

4
n(n+1)(n−1)(n+2) 答
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